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Seventh S

Time: 3 hrs.

Note: Answer

I a. Differentiate between the fo
i) Fully observable Vs. P
ii) Single agent Vs. M
ii| Deterministic Vs
iv) Episodic Vs.
v) Static Vs.

b. Differentiate
i) Simple re

ii) Model - flex agents

iii) Goal- ; and
iv) U ed agents

OR
2 a. So below problem us Beta

(10 Marks)

(10 Marks)

show all the necessary steps.

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)
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lain Minimax with an

distribution in Table Q3(a), calculate following :

oothache IV P Ca toothache V catch)
3 a. Given the

i)P

b. Discuss on

Ca

World Problem with neat diagram.

Toothache toothache

catch - catch Catch -r Catch

cavtrffiu*ui 0.108 0.012 0.072 0.008

- cavity 0.016 0.064 0.t44 0.s76
Catch worldint distribution for the Toothache,

I of2
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Max. Marks: 100

question froru each mocl ule.
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OR
4 a. Consider the set of all possible five-card poker hands

fifty- two cards.
i) How many atomic events are there in the j

five-card hands are there)?

5 a. Diflerentiate between D , Rejection S

:'
ampling and

pseudo code.
b. What is exact

pseudo code.

184.171

liom a standard deck of

distribution (i.e.,how many

of a kind? (10 Marks)
The chance of their

duce change to
change does not

(10 Marks)

Likelihood sampling rvith
(10 NIarks)

inference by enumeration with
(10 NIarks)

network? Explain

8

OR s*

6 a. Expiain the of Bayesian a neat diagram. (10 Marks)

b. Construct Bayesian network rh Weather is independent of the other three

variables and Catch are independent, given cavity. (10 Marks)
.s

7

and exp
OR

of Transformation grammar (10 Marks)
(10 Marks)lain Bind with an example

9

a.

b.

List
Irxp

'-1 r:::i.'

*****

10

2 of2

iii) What is the probability of being dealt a
b. Three persons A, B and C have applied for a private

selections is in the ratio 1 : 2 : 4. The that A, BandC

*i
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f-ime: 3 hrs

Notc: -tlfisn)er utt)'

.@.ql-e--t
I a. L:xplail ihc slcits lirr builclrng uaclline lcarnipg tnoclcls

b trxplain t{idg1e il.cgression, L,\SS0 Res.ression ancl }:iastic Net Regrcssron.

2

3a. blem issLres are addressed by l{idclen
(10 Marks)

me rLitlve aieclrithm cir-rstering

lirnled.

oR.

1. Irlrietlv explain r\uto-Regressivc (AIt) nrodclsi lvith respect to lorecasting (10 Marks)

tr. I)rscgss hovr., Dicl<y-FLrilcL'fcsr and rlif'tcrcncing hclps to llnd oLlt i{'a tirne sertes is

iitationarv in AI{llr4A nlodcl (10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)

b

a. Explain the stePs involved in

clisaclvautagt: s.

b. t,Jsing I(-Mcdoids Algorithn-r
showtr in the table below lnto

OR
K means clr.rstcriug algorithrn along wrth its acl'n'atltages ancl

(10 NIarks)

solvc the problem ltrr the lbllorving clataset of 6 ob.iccts as

clustcrs, lbrK:2.

sclect 2 r-rtccloicls clttstcr centers"
lof 2

Data
BPoints A
1P1 1

1.5 i.5P2
5 5P3

J 4P4
4 IP5

3.53P6

Datu objcct
PointsSample

62X]
1X2 J

-l 8X3
4 2x4
6 2X5

46X6

l',lotc Randomly
(10 Marks)

18AI72

Seventh Semester B.E. Degree Examination, Dec.2023 I Jan.2024

Advanced Machine Learning

Max. N4arks: 100



5a.

6a.

10

t)

Mqdsle-1.
Discuss associatiort rule mining and explain how each rule is nleasttred with a set

With an exarnple. e xplain the steps involvcd in r.tser-based srrnilanty algorittrnr.

OR
lixplarn Count Vcctor N4odclhelps to idcntity thc irttportance o1'u,orcls in a BoW

18AI72

of r-tretrics.
(10 NIarks)
(l 0 Nlarks)

t'Lrr-, c1c I.

(10 Nlarks)

7

8

9

2 ot2

Module-4
With a ncat diasrarl explain ty,;res of treural ne[vork architectLtre. (07 Nlarks)

With a diaglant bricfly erplain clitlbrcnt types ol learning proccss invoh'eci in the neural

nerwork. (06 Nnarks)

Solve ANDNO'I lLrnclron using N4cC,Lrlloch-Pitts ttcltron. (0'7}Iarks)

OR
What are tlrc appropriate tvpcs c-rf probletns irr rihich artillcial ncural nelu'orks can be

applied? (06 lr'{arks)

Briefly explain thc lbllou,'irtg rvith respecl to back propagatit-rll .

i) Rcprescntational Powcr ol'Feedlbrlvard Netlvorlts
ii) Genelalizatiolt, Overfittin-q altd Stopping Criterion. (08 Nlarks)

Describe prototypical gcnetic algorithm rvith an cxanrpie. (06 N{arks)

OR
E,xplain the <listance-rvcightecl neat'est neighbor algorithm. (10 Nlarks)

Brrefly explain how reintbrccment icarning problern dif lcrs fi'clnt other flinction
approxirnation tersks. (10 Ntarks)

*{<{<*>k
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Seventh Sem

Time: 3 hrs

Note: Answer any

la"
b.

2a.
b.

4a.
b

b

9 a. Explain consensus
b. Discuss Kadena's

10 a. Explain the
b. With a neat

Module-5
protocol process in ripplc.

consensus mechanism.

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

m name com.
(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(CAs) tlpes of accounts
(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

b. How is the trgnsaction fee

exp

its

lain

Module-4

."@
':i!:i

OR
application of blockchain in border control by government.
diagram, explain layered model of IOT.

*****

0
s

N.l

N]

tr
g trNs

8

18Ar733

3 a. With a neat
b. With a neat

5 a. What are the three

Module-2
stream ciphers.
block ciphers.

Blockchain
Dec.2023lJan.2024

Max. Marks: 100

module.

illl'-.,-
11. :,rYiiitr

explain

parameters

6 a. Explain the steps that

OR
generated?
explain point addition in

by name

$rii..
by the scrffi{

describe

generate derived key in Litecoin.

life cycle.

:::'f
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2 ;t. I)cmort thc concJitional.

syntax. llorvchart and c\alrple.
ir. l)cvclop a stu

llaraltletcr and

crf()r IrL'sstlgc

ned and neste cl execution 
' statcments rvitll

(12 Nlnrlis)

score \\'ith value betu,een 0.0 to. 1.0 as its
is out ol' rangc/strinq, then print appx'opriatc

OR
alternative. ch ai

Score''' Gradc
A>':,'*"'g-9

.,.1't: 0.8 II
> :0.7
> .- 0.6
< 0.6 F

(BE](B$ $GHEIWIE
18C5752I]SN

Seventh Scmester Ii.E. Dcgree Examination, Dec.2023 /Jan.2021
Pyllhon Application Programrnins

l-irne: 3 l-rrs. lV1er.r. N{arl<s: 100

Notc: ilnsryer fin-t) l'|VE./ull questiorts, clutosing ONE.firll qwestion./i'ttltt coclt rtndule.

Module-1
I a. l)rstirrgu ish betrvee n :

i) Interpretcr and conrplier
ii) Svntax. logic and Semantic errors. (08 Marhs)

b. D,:ljne variablc ancl l<eyrvord. I-ist the keywolds arrd rulcs lbllou,ecl to ttse variable nalres

rvith an extit-n1tlc. (0(, Nlarl<s)

(i. Write a note on :

i1 Acccpting irrput 1l'orn Iteyboard
ii) Choosing, r-nltemol1ic variable ltatnes. (06 N'Iarks)

D

(08 Marhs)

UttAule?
3 a l:ixplain rie{lnite and irrdelrnite loops r,r"il[-r sLritaLrlc eratrplcs. (05 N'Iarlis)

b [)cvelop a progral]l r,r,'hich repe aled ly reacls nurrbcrs ur-rti I the ttser entcrs "clotle". Ottce
'-clorrc" is enteled. prir-rt total. coultt, A\r-ri.lsc. rraxir.ttt-ttn and t.nit.titl'lutl-t o1'ttttlnbcrs. [,se tr,v'

and exccpt to print appropriate error trrcssage and sliip t0 rtext trurnbcr input. (10 N'larks)
()' l,ist or:t the strir-rg h:rndling methods u'ith syr-rtax atld cxamplcs. (05 Marlis)

oR.
of'palsing Strings and [rorrlat operators rvith sr'ritable exanlples.

(04 Marks)

b. [)ernonstrate the open. rcad, rvrite, searc,h ancl closc lrle tttetltocls u'ith svtrtax ancl examples.
( l2 N'l a rks)

Develop a program to creatc a string trade of tirst. rriddle and last characte:r of rt rtscr

specilred strirrg. ([rx : lltput. .james. Outpr"rt;.lrns). (0'{ Nlarlis)

I of 2

C
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Moll."l"-3.
a. lllustrate ti list handling methocls in python'

b. ISring or-rt the relatior-rship b.,tu.",-.l list ancl lirtrclions rvith sr-ritable examples"

c. Der,,clopment a prograrn to turll evetl itenl of a list I irrto its square and place

l'r'irtt hoth li't:.

18C5752

(08 NIarhs)
(06 lv{n rl<s)

it rnto list 2.

(06 Nlarlis)

6 a. DeveloP a Program to reacl

ignorir-rg the PurrctLtation an

b. l)escribe tuPle

c. lllusttatc search irrg

7 a. DeflrTe itrstantia

ModuJs:4
the shallorr anci deeP coPY c

salleness [retrveen itlstances

rn a file blr'

si not er{1s1.

(08 Marks)
(06 1\'Iarks)

((l(r Nlarlts)

onoept it'ith exalllplcs. (Oft NIarhs)

arrcl usc of itrstatrct:s as argLtnlcnts
(.[2 lr{ a rlis)b

lain
pt of

ancl

8

9

1t)

2 of 2

OR

a. Illustratc thc concept of pure functiorrs and modil'icrs'

b. Develop a prograll.l with initializatiotl metl-lod and optional argurrents

c. Den1onstratc operator overloacl ing ancl poll'morphism f'ezrtr-rre rvith sample code'

M,,rdule-1.
W'.r,1,1\ trtplest rveb browser. Also clrau' a cotlceptual

d iagrarn.

b. Develop il progralTt that catl reacl an1'size file u'ithout using up allthe tnetllon" in

c. I)entctnstrate the XMI- ancl .ISON fbnlrats lbr data exchange across the lvetr'

OR

Write a ltote ol1 Googlc geo-coding API u'cb servicc (0ti N{arks)

Derlonsrrate the use ,rt cnparE. INSEItT. St,l,ljc]'. t]PI)A1l-. and DL)l'L ltl sQL
( L1. l\Iarkri)corttttttttds irt Pl tltr'lt.

(0-i \larhs)
(10 )Iarhs)
(0!! Nlarhs)

(0'7,\Iarhs)

co n'rputer.
(06 lUart(s)
(07 NIarhs)

**rr)k:t


